HmEk K4-Zd

&5 BRES HE mA ME YAX ik
1 P-70677 1 ik SR— 4 Fqay

2 P-42071 2 NI UG (KA-2) Sus

2-1 P-31005 2 IT7 NI (K4) L=—

3 D-00010 2 FAT 75 L(KL)

3-1 P-30465 2 =LY (K4,Q4: ¢ 110) NRLIL 110D

4 P-40726 2 TL—k(K4-Z: ¢ 54,SUS) SusS 54D

4 P-41342 2 TL—k(K4: ¢ 44,5US) SusS 44Dx5t

5 P-31028 2 AT L—k(K4-T: ¢ 45) L=— 44D

5 P-31080 2 AT L—k(K4: ¢ 55PP) L=— 55D

7 P-41376 2 55— (K4,K6:39mm) #123 39L

7 P-41611 2 $H5—(K4,Q4:45mm) #4123 451

9 P-30505 2 —ILw 4 (M6, SUS+=RJJL) SUS+=kJJL M6

9 P-30517 2 TI7AVHRyk(Me, T70Y) Foav M6

9-1 P-10372 2 2 — )L+ (M6,SUS) sSus M6

10 P-30911 8 $RH R 4wk (M5) i) M5

10-1 P-30989 8 T8 ARy (M5, T20Y) Fo0av M5x1tx10D

13 P-10840 2 EES (M6,54E16mm) sSus M6 5+ 1%16mm

15 P-70446 2 R7VYGr—RH

16 P-41253 1 v Tk (K4,Q4:40x159) SK4DR 40x159

16 P-41608 1 2w Ik (K4,Q4:36x168) SK4DR 36x168

17 P-41634 1 F—LTL—F

17-1 P-42201 1 F— LT L—rEHERN/3—30924 ) 173y
17-2 P-42266 1 F— LT L—hrEERN/3—31228F) 1773y
19 P-30132 1 X I75—/\wk IN—Ls

20 P-80087 1 YNNI

23 P-10513 1 I7/NVT(1/47) B (A Fay) FCMB 1/4”D 1793y
24 P-30923 1 BERH/N— =

24-1 P-30924 1 PSR AN— (D) F4ar 3/8” 173y
24-2 P-31228 1 BERH/N— ($£38:3/8" F4AY, TILARAT) F40r 3/8” 17y
25 P-31499 1 7 A5y EE&R NN - UGK1230N) UGK1230N

25-1 P-30941 1 ARk (& H/3—30923F) 177y
34 P-40229 1 N THETA— (Q6:38¢ . SUS) SuUS 38D

35 P-40231 1 Y923 1T (38pxIm) FRT Sus 38DX1m

36 P-30933 2 Rk 78—(25D) NI 25D

48 P-30944 1 HR7vb KA ARA)

48-1 P-30943 1 HSAM1F PFA

51 P-70679 1 A2 =7"— LRHE(K4-Zd)

52 P-70445 1 7 k< ==—)LFHE (K4-2) SuUs

56 D-00021 4 R—ILsN LT HA(K4)

59 P-30724 8 AR YR (K4 N V7 Y—bF70) T70Y

59 P-31562 8 HR7 9k (K4: /8L TS — A UGK1240N) UGKT1240N

60 P-10510 8 ARV (MBx22,SUS) Sus M8x22

60-1 P-10264 8 SEEES(M8,SUS) SuUs M8

61 P-10714 12 X v TR IL(M6x22,SUS) Sus M6x22

621 P-10644 2 A1) 12— (M4Ax16) o M4x16

62-2 P-10645 2 A9V a—2D(MAx12)7°54Y o M4x12 753y
62-3 P-10643 8 A1) 21— (M5x12) % M5x12

64 P-10134 1 HE7R)L I (M8x20,SUS) Sus M8x20

69 P-10333 2 L5k (M6,SUS 327&) SUsS M6

73 P-10192 12 N EES(M6,SUS) Sus M6

73-1 P-10539 12 SEEES K(M6x13,SUS) SuUs M6x13D

73-2 P-10259 8 INRES(M8,SUS) Sus M8

75 P-10280 12 FNAF vk (M6:SUS) SUS M6x 1

80 P-30072 4 0 %4 (P5,=KJJL) =k 5D

80-5 P-30141 1 o4 (P38,=kJL) =) 38D

80-5 P-30142 1 Oy 4 (P38 A ~2) N 38D

83 P-10009 1 —wZFIL(1/47) FCMB 1/4” 177y




- K4 PUMP (Zd type)

Model

Py

TJAVEAT 7T LD

7_-

) [FAFvavTy




